DU BEd Special Education Visual Impairment

Topic:- DU_J19_BED_SE_T1

1) Bharti lives in New Delhi. Her younger cousin Konika lives in a small town with fewer than
1,000 residents. Konika has visited Bharti several times during the past five years. In the same
period of time, Bharti has visited Konika only once. Which conclusion among the following can be
drawn on the basis of information provided?

YR 78 fawh & w8l 21 1000 § + #H Faia) ard Te Sie @ WY § IS9P B! B ST Igdt
21 o v qul # HIfe 8 TR URG & W) TS 21 = ERME BIfAeT & IR YR $ad Th IR T8 gl
9 G & YR R Fafrf@a & ¥ o1 a1 fFreed Aerar s wwar 31

[Question ID = 24005]

Bharti is older than Konika / HRdl 14T ¥ §<1 81 [Option ID = 36019]

Bharti thinks small town are boring./ YR T § fb B I8 391 81 8 [Option ID = 36018]
Konika likes Bharti./ BIfAdT HRd! &) U< &t g [Option ID = 36017]

Konika wishes to live in New Delhi./ @f-iaT =18 faeait # YT aTgalt g1 [Option ID = 36020]

H N

Correct Answer :-

« Bharti is older than Konika / HRdl ST ¥ §St g1 [Option ID = 36019]

2) Which one of the following is the title of the report submitted by the Yash Pal Committee

(1993)? / T=UTe "AfY gRT WRgd Ufdde &1 e Fafafeaa d § s are?
[Question ID = 24001]

1. Learning to do/ @1 € § (AT WG [Option ID = 36002]

2. Learning to live together/@f=" ¢ for@ giiaR ( g¥RI & 1Y &1 JRGT) [Option ID = 36003]
3. Learning to know/ @ € =Y (ST TaAT) [Option ID = 36001]

4. Learning without burden/ i+ faurse s+ (Eh%T Had 3fATH) [Option ID = 36004]

Correct Answer :-

« Learning without burden/ @1 faurde 9 (aI% Yad HfTH) [Option ID = 36004]

3) Which is the least populated State in India?
YRA A oA HH SATETS! 16T 75T DI A7 82

[Question ID = 24013]

1. Sikkim/Rifd®H [Option ID = 36049]

2. Goa /T [Option ID = 36052]

3. Arunachal Pradesh /WW [Option ID = 36050]
4.  Meghalaya / HdTerg [Option ID = 36051]

Correct Answer :-
«  Sikkim/Rifd®H [Option ID = 36049]

4) Where is National Sugar Institute established?

P A W T v At 32



[Question ID = 24016]

1. New Delhi/ % fawf [Option ID = 36062]
2. Lucknow /d¥3 [Option ID = 36063]

3. Kanpur / @GR [Option ID = 36061]

4. Gajrola/ TSRIGT [Option ID = 36064]

Correct Answer :-
o Kanpur / ®TAYR [Option ID = 36061]

5) From the number 13758925, a new number is generated by interchanging the digits in the
odd and even positions. How many digits will be there in the new number?

TWAT 13758925 # TH X fauw fRUfY & o I1d 3ipl 1 MU # Ied HR TP S &A1 94141 7411 18
= | faq 8w gii?

[Question ID = 24010]

6 [Option ID = 36038]

7 [Option ID = 36039]

8 [Option ID = 36040]
5 [Option ID = 36037]

H N

Correct Answer :-
o 8 [Option ID = 36040]

6) In which part of the Indian Constitution, special provisions have been made for National
Scheduled Castes and Scheduled Tribes, Other Backward Classes and Anglo Indians?

HR Sfau™ & ford W &, g srggfud sifa oiR sy siHeifa, o fUrasT af ofk wwat s
¥ forg fatw wrau 6w e 82

[Question ID = 23991]

1. Part XXI [Option ID = 35963]
2. Part XI [Option ID = 35962]

3. Part XIII [Option ID = 35964]
4.  Part XVI [Option ID = 35961]

Correct Answer :-
. Part XVI [Option ID = 35961]

7) Which of the following city is the Headquarter of SAARC?
fFrafafaa d ¥ 19 T1 WX J1H BT JBIad 32

[Question ID = 23997]

Islamabad / S¥THIdIG [Option ID = 35986]
Colombo / ®Idal [Option ID = 35987]

New Delhi / T3 f&eait [Option ID = 35985]
Kathmandu / ST3HIg [Option ID = 35988]

AN =

Correct Answer :-
e Kathmandu / ®TGHIg [Option ID = 35988]



From which place, the Satluj river enters Himachal Pradesh from Tibet?

Hagel A1 fosga I feara vemr & forg wIH | vaw adl 82
[Question ID = 23993]

1. Makodi/ H&IST [Option ID = 35970]

2. Shipki/ fR19@! [Option ID = 35969]

3. Hadsar Jot/ SR SiIe [Option ID = 35972]
4. Loori/ IR [Option ID = 35971]

Correct Answer :-
« Shipki/ FRrges! [Option ID = 35969]

9) Which is the 8t |etter to the right of 15t letter from your left in the English alphabet?

3Tl quiATaT # 3MUP 91¢ A 15 § &R P SIS 3R 8 a7 &R P AT 8?
[Question ID = 24009]

1. Z [Option ID = 36034]
2. G [Option ID = 36035]
3. H [Option ID = 36036]
4. W [Option ID = 36033]

Correct Answer :-
o W [Option ID = 36033]

10) The Instrument of measuring height is called:

FITE HIUA & IUDIV H| Bl Sl 8:
[Question ID = 23995]

1. Vernier calipers/afitR & [Option ID = 35980]
2. Stadiometer/f&at Hex [Option ID = 35978]

3. Goniometer/ M dex [Option ID = 35979]

4 Dynaometer/ SIS Hiex [Option ID = 35977]

Correct Answer :-
. Stadiometer/%f&aY Hiex [Option ID = 35978]

11) In Gujarat, Makar Sankranti is celebrated as:

TRIABAPRIABIA & =7 W TR AT &
[Question ID = 23992]

1. Haldi-Kumkum/ 8<l-$H%H [Option ID = 35966]
2. Magha Saaji/HTd HTSit [Option ID = 35967]

3. Uttarayan/ 3<RIIUT [Option ID = 35965]

4.  Khicheri/fa=} [Option ID = 35968]

Correct Answer :-
. Uttarayan/ 3<IRTIUT [Option ID = 35965]

12) Five books are kept on each other. E is above A, C is below B. If A is above B and D is below
C, then which is at the top?



TH-g} R Ui forard Tl At §1E, AG SR T, C, BATA ARG A BAFZTW IR D, cATRE, @
P TG S §?

[Question ID = 24012]

1. D [Option ID = 36047]
2. B [Option ID = 36046]
3. A [Option ID = 36045]
4. E [Option ID = 36048]

Correct Answer :-
e E [Option ID = 36048]

13) Water lily is the National Flower of which country?

arex ferelt e Q1 Wgia B @2
[Question ID = 23994]

1. Japan / SO [Option ID = 35976]

2 Nepal/ Jurd [Option ID = 35974]

3. Bangladesh/ SITQTGRT [Option ID = 35975]
4.  Pakistan/ UTfao¥dM [Option ID = 35973]

Correct Answer :-
«  Bangladesh/ SATGRT [Option ID = 35975]

14) When was University Grant Commission formally established?

fayfaenaa sem AT SuaTR® ©U A Ha w1fua foar T 412
[Question ID = 24018]

1. January,1956/ SFaRl, 1956 [Option ID = 36072]

2.  September, 1956/ ﬁl?iﬁ?, 1956 [Option ID = 36069]
3. November, 1956/ dsR,1956 [Option ID = 36070]
4. July, 1956/ SJ[@Ts , 1956 [Option ID = 36071]

Correct Answer :-
. November, 1956/ HdsR,1956 [Option ID = 36070]

15) When was the Central Information Commission established?

FE GEAT TN BT RITGAT Hd P TS 412
[Question ID = 23990]

1. 1991 [Option ID = 35960]
2. 2005 [Option ID = 35958]
3. 2001 [Option ID = 35959]
4. 2010 [Option ID = 35957]

Correct Answer :-
e 2005 [Option ID = 35958]

16) When was the World Health Organization founded?
fay WA W6 B RITUAT $9 §32



[Question ID = 23998]

1948 [Option ID = 35990]
1950 [Option ID = 35991]
1961 [Option ID = 35992]
1937 [Option ID = 35989]
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Correct Answer :-
. 1948 [Option ID = 35990]

17) In a Computer, a byte generally consists of:

TP HYeR # TS qI3¢ # YA ........ BIT &
[Question ID = 23999]

1. 4 bits / 4 {9 [Option ID = 35995]
2. 10 bits / 10 foc¥ [Option ID = 35994]
3. 8 bits /8 facy [Option ID = 35996]

4. 16 bits /16 TS [Option ID = 35993]

Correct Answer :-
+ 8 bits/ 8 facH [Option ID = 35996]

18) Who is the Chief Justice of India?
YR & o1 A= s 82

[Question ID = 24003]

1. Jagdish Singh Khehar/ STEIRT g WeX [Option ID = 36010]
2. Ranjan Gogoi / ¥o19 TS [Option ID = 36011]

3. Dipak Misra/ dldd fl1%i [Option ID = 36009]

4. T.S.Thakur / €. TH.31%R [Option ID = 36012]

Correct Answer :-
. Ranjan Gogoi / TSI 1718 [Option ID = 36011]

19) Gobar gas contains mainly ...

MR A9 A g1 =9 I /e 3
[Question ID = 24002]

1. Carbon dioxide/ ®Te STE3{TaITSS [Option ID = 36005]
2. Carbon Monoxide/ ®T& HIHISHIGITESS [Option ID = 36008]
3. Ethylene/ 3YTZdi [Option ID = 36007]

4.  Methane/ U2 [Option ID = 36006]

Correct Answer :-
«  Methane/ HI¥ [Option ID = 36006]

20) Braille is related to ' Visually Impaired’ in the same way as 'Sign Language' is related to :

o efarfia 3 St we T6fta 8 o we I dde----- | S6la &
[Question ID = 24006]

1. Spasticity / fefict [Option ID = 36022]



2. Hearing impaired / YUIETIErd [Option ID = 36023]
3. Intellectual disability / SfG® faHTAT [Option ID = 36021]
4. Muscular Dystrophy / TR fS¥ThT [Option ID = 36024]

Correct Answer :-

» Hearing impaired / YIS [Option ID = 36023]

21) Match List-I and List-II and identify the correct code:

List-I List-II

a. World Yoga Day i. 16th September

b. World Population Day ii. 1st December

¢. World Ozone Day iii. 11th July

d. World AIDS Day iv. 21st June

Codes:

g-l ﬁqﬁ-nﬁgﬁﬁgﬁﬁaﬁ?wﬁﬁaﬁmﬁaﬁ:
-1 -11I

a. fay arm fRaw i. 16 Ryawr
b. fay sFgEn e  ii. 1 feawsR
c.faysieimfRaw  iii. 11 Jarg
d. fay vew feaw iv. 21 5
Pc:

[Question ID = 24017]

1. a-i, b-ii, c-iii, d- iv [Option ID = 36065]
2. a-iii, b-iv, c-ii, d- i [Option ID = 36068]
3. a-iv, b-iii, c- i, d- ii [Option ID = 36066]
4. a-ii, b-iii, c- iv, d- i [Option ID = 36067]

Correct Answer :-
e a-iv, b-iii, c- i, d- ii [Option ID = 36066]

22) Full form of RTE Act-2009 is :
IR, &. . gy -2009 FT YR A &:

[Question ID = 23996]

1. Right to Education of Children-2009/ X1§¢ g USRI 3 faeg -2009’ [Option ID = 35981]

2. Right to Education of Children for Free and Compulsory Education Act, 2009/ R1g< QQ\_@T‘«TFI 31 foreg
BR bl Y08 HHAHR] UhRH Tde-2009’ [Option ID = 35983]

3. Right of Children to Free and Compulsory Education Act, 2009./RTS¢ 31t faeg- ¢ Wi TU8 SRt
USRI Tae-2009’ [Option ID = 35984]

4. Right of Children for Free and Compulsory Education Act-2009/X1sc 3 ﬁl@ff TR W TS BRI
USh R Tde-2009’ [Option ID = 35982]

Correct Answer :-
« Right of Children to Free and Compulsory Education Act, 2009./RT8¢ 31t feg ¢ Tl TS HHIRR]
US[h R Tae-2009" [Option ID = 35984]

23) What is the next alphabet in the series B,D,G, H, P............
B,D,G, H, P......... sjamﬁammafww%'?

[Question ID = 24007]

1. S [Option ID = 36028]



2.V [Option ID = 36025]
3. T [Option ID = 36027]
4, W [Option ID = 36026]

Correct Answer :-
. V [Option ID = 36025]

24) What is the next number in the series 4, 9, 20, 43,...
4,9, 20, 43,..... 49 & AT TR FATE ?

[Question ID = 24008]

84 [Option ID = 36030]
96 [Option ID = 36031]
95 [Option ID = 36032]
90 [Option ID = 36029]

HwwnN =

Correct Answer :-
. 90 [Option ID = 36029]

25) MOOC stands for
MOOC &1 quf 7 g

[Question ID = 23989]

1. Myrind Online Open Course / NS 3{FaTs 3o I [Option ID = 35956]

2.  Massachusetts Open Online Course/ﬁﬂ@?ﬂ 3 3faET B [Option ID = 35954]
3. Media Online Open Course/HifSaT 3i-ams 3 B [Option ID = 35953]

4. Massive Open Online Course / B it 3iiae" ®Rf [Option ID = 35955]

Correct Answer :-
« Massive Open Online Course / BRI aifu aifFemis &Rf [Option ID = 35955]

26) A is brother of B. B is brother of C. C is the husband of D. E is the father of A. D is related to E

as
A, BHTHTS BIB, CHTHUE 81 C, DB UfA g1 E, A ST AT 81 D &7 E | Hae =1 g1~
[Question ID = 24014]

1. Sister in-law/HTHT [Option ID = 36055]

2. Sister/sig1 [Option ID = 36056]

3. Daughter /&l [Option ID = 36053]

4. Daughter in -law / GAdY [Option ID = 36054]

Correct Answer :-
» Daughter in -law / AdY [Option ID = 36054]

27) The title ‘Punjab Kesari’ was conferred on

TSI AT F Iy | ford gwrfaa foran ware
[Question ID = 24000]

1. Sardar Baldev Singh/ §%GR §dcd Rig [Option ID = 36000]
2. Bhagat Singh/ Y7Td g [Option ID = 35998]
3. Lala Lajpat Rai/ Tl dsiUd 1T [Option ID = 35999]



4.  Ranjit Singh/ OIS A8 [Option ID = 35997]

Correct Answer :-
. Lala Lajpat Rai/ <TciT <rsiUd M [Option ID = 35999]

28) The octal number system consists of the following symbols :

3ifqed I yummelt # fFAufafEd udie wnfie §:
[Question ID = 24011]

1 0 -9 [Option ID = 36042]

2 0-9, A—F [Option ID = 36043]

3.  0-7 [Option ID = 36041]

4. None of these/ IRIad § ¥ P13 Tal [Option ID = 36044]

Correct Answer :-
. 0 — 7 [Option ID = 36041]

29) The term ‘TRP’ as associated with TV shows stands for:

3t = F Ty S e "AREY B 7w 3 32
[Question ID = 24004]

1 Thematic Rating Points/ Jiafew e tﬁ"s'ﬁﬂ [Option ID = 36015]
2. Time Rating Points/ C1gH T UIScd [Option ID = 36014]

3.  Television Rating Points/ %Efﬁﬁﬁl:ﬁﬁﬂq‘fgaﬂ [Option ID = 36016]
4.  Total Rating Points/ €lcd T Uiged [Option ID = 36013]

Correct Answer :-
«  Television Rating Points/ <ciifdei AT tiged [Option ID = 36016]

30) Justice Verma Commission had called for bringing structure reforms in:

qrgfd qut ST A {5 WA sgawiT § JURT &1 i Bt A2
[Question ID = 24015]

1. Teacher Education/ & fRI&f [Option ID = 36060]

2. Technical Education/ d@-iab! fR1&fT [Option ID = 36059]
3. Higher Education/ 3= fR1&T [Option ID = 36058]

4. School Education/ Fp_df?f&ﬂ [Option ID = 36057]

Correct Answer :-
« Teacher Education/ fR1&/@ fR1& [Option ID = 36060]

Topic:- DU_J19_BED_SE_T2

1) I fou 7T Teriw @ yeHR U@ Y Uyl & 98t/I9d Sfud W ard fawew &) g

Rrem ot gRAYT & 399 GRIE W TSI | TP IRAT AHMEIY BT 8, TGN &1 3| IR St GO

e &) Ay-area I AT NG ST 61 B! AT $39 B I W) 2| TOR S 39 doa™ ara
IR IR ATHYT B, APHTEIY § TR HY ¢ a1 U § | gt R FRem ST aeFAr unt g, S
Thdl g, ¥ S JhdT g 3R THR T P Uad Hedl g3 faud fads § wwar 8| fFAfda € ag ant
FTRPT B, TR AT 3R SrHffd H I8 IR T 9Rf Ygwas 2| 39 aRTe W @1 Rrandf 9ok #t
T AT B | ATEN-HAS! AT 3T 3V I F arera | 31 M § 3R Rren & vawena # B9 M §| IR Bt



Tt 78t ¢ 5 a8 B F1 AN et B 981 §11 ST 3R Ag™ AR a1 99 9Tl 3| {9 98
HEqW 181 g1 ¥ 9% qaed | §, afcw Heqw gs gian § f¥ IR g7 i e 3% & w1 98 g9 7|
3T TE AT 14 8 5 T= G&@ A1 82 3R J& BT YH T 3?2 &N QIR A B 3| Gaa ag ¢ %
IR faaR & &1 Y 3T a1 8 a1 8k

TR & IR @1 IR P gd 8, FifD

[Question ID = 24023]

1. SR ¥ {16401 § [Option ID = 36091]

2. gt @n ot 8 [Option ID = 36089]

3. W S9R ¥ UH $Rd 8 [Option ID = 36090]

4. AT & U Y9-IUfy Bt HH § [Option ID = 36092]

Correct Answer :-
« SR H 3{THYUT § [Option ID = 36091]

2) i AT 7T Teriwr @ UeHR YW T UMl & A5l/I9w Sfud S ard fawew &) g |

Rrem et gAY & 399 GRIE W TSI B | TP IRAT AHEIY BT 7, TGN BT 7 | TR Pt TGO
Rrenff &1 AY-area IHR AT RE Q1A 357 P! AT FIA B IAE Wl | TWR & 39 d@9H arad
IR R HTHYT §, THTAY § TR B ¢ aTal AU § | GOl AW FRI&T HT A1 91t g, St ;i
TP ¢, T<IU S Jobal & 3T THIY AT P! Uaa Hal g3 fawe fad® ¢ goar ¢| fAfda € ag anf
e B, IR S0+ SR repfifa #3 aTa SR &1 AR e €] 59 aRTe W @el Riandf iR #Y
T AT 3| ATEN-HAST AT ST 3V I & arera | 31 M § 3R Rren & vawena # B9 M §| IR Bt
Tt g8t ¢ 5 a8 B F1 sa fdlt B 98§11 ST 3R A™ AR a1 99 9Tl 3| e @) 98
HEqW 81 g1 i 9% qaied | 8, I HeqW Is a1 ¢ i IR g1 AT ¢ I%s & $RUT 98 & 3|
3T Tg AT 14 & 6 T= G&@ A1 82 3R & BT YH T 3?2 & QIR 1 B 3| Gaa dg ¢ %
TR fRR B3 &1 WY sraerer 3T a1 71E |

TR & YR W BT T Thell 3 f5

[Question ID = 24020]

1. Hifqeararel 9= g1dt 81 38 & [Option ID = 36079]

2. Hifdsarard! T g1t 78 81 X8t § [Option ID = 36077]
3. AT GWRI &1 37 | 3fFf<d 8Id € [Option ID = 36078]
4. AN QIR Sitae SfiFT U< &R § [Option ID = 36080]

Correct Answer :-

. ifdsdrarc! T gTat 81 X8t § [Option ID = 36079]

3) i AT ¢ Teriwr 3 gH YR M Ml & Ot/ 9ad 3 SR ardl fawew w1 gfag|

Rrem ot gRYT & 399 SR W TSI | TP IRAT AHMEIY BT 7, TGN BT 3 | TR St GO

e &) Ay-areT TP AT NG ST 61 B! AT $39 B I W) 2| TR S 39 daa™ ara
IRAT IR ATHYVT B, APTEIY § IR HY 31 a1 U § | gt R fRem ST aemAr unt g,
Thdl 3, ¥ S JhdT g 3R THR T P Uad HedT g3 faud fads § 9oar 8| FAfda € ag ant
TP B, TR AT 3R Srpffa H I8 IR 71 9Rf Ygeas 2| 39 aRTe W @1 Rrandf ek #t
T AT B | ATEN-BAS! AT 3T 3V I P arera | 31 ¢ § 3R Rren & vawena # B9 M §| IR Bt
Tl g8l 8 {5 95 $u= &7 g folft o1 181 g1 ST SR U™ @R T et ot 8| et &Y ag
YW T8I g1 {5 9% quew & 3, 3 WEYW g g1 § ¥ AR g1 fiE e Fw & SR 95 g 7
3T TE A 14 & 5 T= Y& A1 82 3R & BT YH T 3?2 FEd AR A B 3| Gaa dg ¢ %
TR fAR & &1 Y g a1 @ a1 g |

'ITHYUT T el 2eg @

[Question ID = 24021]

1. 99U [Option ID = 36083]
2. I&Y [Option ID = 36084]

3. THTHYU [Option ID = 36081]



4. fa®ur [Option ID = 36082]

Correct Answer :-
« fa@fur [Option ID = 36082]

4) == 3 T TR Y ueH IR T Ul & T/ e IR S<R a1 fawew ot gihe|

Rrem et gRYT & 399 GRIE W TSI | TH IRAT AHMEIY BT 8, TIGWN &1 8 | TR St GO
Rrandf B divy-areT B AUt W ST 6 B T FA B IARS W ¥ | TR b 59 qed ara
IRAT IR SATHYUT B, AT § IR HY 31 a1 U 8| gt R Rigm w1 aemAr anf g, s g
TPl 8, IV T JobaT ¢ 3N THN T P! Yad Hal g3 faua fad® ¢ goar 8| FAfda & ag anf
PR B, TR AT 3R HTd B3 910 IR B1 AR UGwhe B | 39 IR1e W @eT Rraneff 9ok )
T AT B | ATEN-HAS! AT 3T 3V I P arera | 31 M § 3R Rren F Vawena # B9 M §| TR Bt
Tl g8l 2 {5 95 $um &7 srear fonlt ot 1Y g1 31 SR U @R S T ot 8| et #Y ag
"YW T8I g1 5 9% quee & 3, e WEYW e §ia1 § ¥ AR g1 i e e & SR 95 g 3
3T T 3T 914 § b T=1 @ 7 82 3R Y& BT YT T 82 Tevd [9gR A $1 §| gara 98 @
TR faaR = &1 W Sraw=r 3ar @ a1 81|

e o P-30 favar aoR #9178 32

[Question ID = 24024]

1. SR Gt 819 &1 YA U1 H3aT & [Option ID = 36096]

2. SR ANl &I GE-JM7 T § [Option ID = 36094]

3. STSTR QR T 30 SATHY0T F ST 8 [Option ID = 36093]
4, SI9IR U% GoGd P a8 & [Option ID = 36095]

Correct Answer :-

. FOIR QN &1 F@-Mf~T &l § [Option ID = 36094]

5) 2 fr 7T MR F veHR U T UMl & OE/9ad Ifua IW a1d fawew w1 gy

Rrem et gAY & 399 GRIE W TSI | TP IRAT APEIY BT 8, TGN &1 8| TR St JAGOon
Rremdf ®1 dry-areT B U WE ST Y6+ B FIa F Bt A= WI1 7| TR F § A9 arad
I W IATHYYT §, THTAIY § TR B 3 AT WU ¢ | Ot R FRI&T HT AT AR1 g, St i @
TPl g, T~<¥  Jhdl & 3R THAR 3T &) Uad bal gai faua fade 2 goar 8| FAf¥a € g anf
TP 8, AR AT 3R i HA aTal IT6IR BT AR Ugeady 2| 39 aRTe W @1 Rrandf 9k &1
T AT B | ATEN-HAST AT 3T 3} I P arera | 31 ¢ § 3R Rren F vawena # B9 M §| IR Bt
Tt T § 5 a8 B 31 g bl Bt TEY €1 3T iR A TR et e wirar 8| fkit 3 ag
HEqW e} 81d1 b 96 Gued # ¢, TP HEHW g §1dT 8 [ IR GRT A T Fbe & PRI 95 Y&l 3|
3T T 3T 914 § b T=1 g 7 82 3R Y& BT YT T 82 Tevd (AR A $1 8| gara ag @ f
TR fAER & &1 W ST ar € a1 81|

"Rt AR RIET BT AreET ant 8" o) ugel avw 82

[Question ID = 24022]

1. SNIR ! IHTETY, GRIET3R JU [Option ID = 36087]
2. gfAYT BT GRTT 3R HedhTd [Option ID = 36085]

3. UH 3BT Ul 3R JW-TM [Option ID = 36088]

4. TAGA H By 814 BT 3N [Option ID = 36086]

Correct Answer :-

. SR &I IHTEY, JEIGT3IR U9 [Option ID = 36087]

Topic:- DU_J19_BED_SE_T3

1) R fRE T vwrizr Y vgwR U T wHl & 9t/ aew 3Ra SR A fawe &t gfag)



A Wg yPpfd $I g & ot a1 §
Q- W A1 9151 § 98 o P AT &
RrreT TR PR Taw Y @1
forae gge Rum I P AR
et st gem A URT 987 e §
WYar g TeT 98 3 P AT @
e 93 Wi wa o A1 7
ST AR TG SN P
forad e aTe o3 UgH W
fAmadae e dnsare
HI & AR A fHa®! Fg1 7T 7?2
[Question ID = 24030]

1. 997 & S BT [Option ID = 36119]
2. 9 &I [Option ID = 36117]

3. $% @I [Option ID = 36120]

4. R BT [Option ID = 36118]

Correct Answer :-
« TR &I [Option ID = 36118]

2) - R TN U=eriwr 3t UedR UB T UMl & HEt/9ed I Iw 9 fawe & g
U ypfa P Mg A aar s
Q- W 1 951 8 98 ¢ DI A1 8
RoRTeT =R foraR T o @1 R
e qge Rama s s AT e
feat wef guT F yRT TRT I |
e g e 98 3 P AT @
e 98 Tid e F e A

S T H TS ¥ 9§ W BT AR
forad gy arel o TgH WR
fATasaRIwITPTAR

RA-vaemdawRe?
[Question ID = 24028]

TR Yex FIRIT T [Option ID = 36111]
U [Option ID = 36109]

= UG [Option ID = 36110]
Ig-d1d [Option ID = 36112]

HwwnN =



Correct Answer :-

TR YaR T g [Option ID = 36111]

3) R fiw 7T veriwr Y ugdR U@ ¢ vyl & IEt/9ed Sfd SR 9 fawew & g
7 Wit upfa 1 e A St g @
Q- W A6l ¢ T W P AT 8
RoRTeT =R foreR T o TET R
e g AU ag U s AT
feat wef guT Ft yRT TRT I |
e gan W 98 M P AT 7
o 53 T v $¢ e A
SERUERE R REIE R K
forad iy aret Jro¥ T WR
fATasaR eI PTAR

78 Bfadi g

[Question ID = 24027]

1. YR ¥ Fwifed [Option ID = 36105]

2. <XHfad ¥ 9weEfdd [Option ID = 36108]
3. HBUM ¥ gad [Option ID = 36106]

4, fAdg Y1a ¥ gad [Option ID = 36107]

Correct Answer :-

TRHfda & eaEfdd [Option ID = 36108]

4) -7 fRT T eriwr #1 veHR U T uHt & AE/ I Sfd Iw a1a fawew +) gy
7 Wit upfa 1 tiie & St qw @
Q- T IR g G NP AT
Rt =Ror AR W@ N TET
e gge A s s AT e
feat STet guT i URT 987 W& 2
o gen a@T ag I BT AT R
e 78 i va o e A9
AT A AN TG U BT AT B
forad iy atd o3 UgH W
fAadaeeaednsATe
gl ' AT 3T H ol § ' BT 3 §

[Question ID = 24029]



37T 3T H o7 8 [Option ID = 36114]
TRR F UAS HFTH I § [Option ID = 36113]
IWRIed § I PIs 8! [Option ID = 36116]

3 & TS Y -4 H T § [Option ID = 36115]

H N

Correct Answer :-

. VP UG Y -YTT H Tl § [Option ID = 36115]

5) - feT 7T ueri=r #Y ygHR U@ ¢ vyl & 6Pt/ 99w I IR ard fawew a1 g
7 Aigft upfa P g A st qan @

G@- T A1 951 § 98 o B A1 7
RRTeT =R foreR T o @1 R
e gge Rama s s AT e
feat wef guT Ft URT TRT I ?
o gen aaT ag I BT AT R
e 78 Wi va o e A9
S ST H A § G AN P A B
forad gy arel Jrox T WR
fATaseR e ImPT AR
qpe w0t Fa1 32

[Question ID = 24026]

1. HHIg® G [Option ID = 36104]

2. T [Option ID = 36101]

3. feHT@d [Option ID = 36103]

4. Idl ¥ STST UGTS [Option ID = 36102]

Correct Answer :-
« f@HTe™g [Option ID = 36103]

Topic:- DU_J19_BED_SE_T4

1) Read the following passage carefully and answer the questions

The popular view of towns and cities in developing countries and of urbanization process is that
despite the benefits and comforts it brings, the emergence of such cities connotes environmental
degradation, generation of slums and squatters, urban poverty, unemployment, crimes,
lawlessness, traffic chaos etc. but what is reality? Given the unprecedental increase in urban
population over the last 50 years from 300 million in 1950 to 2 billion in 2002 in developing
countries, the wonder really is how well the world has coped , and not how badly.

In general, the urban quality of life has improved in terms of availability of water and sanitation,
power, health and education, communication and transport. By way of illustration, a large
number of urban residents have been provided with improved water in urban areas in Asia’s
largest countries such as China, India, Indonesia and Philippines. Despite that, the access to
improved water in terms of percentage of total urban population seems to have declined during
the last decade of 20th century, though in absolute numbers, millions of additional urbanities,
have been provided improved services. These countries have made significant progress in the



provision of sanitation services too, together, providing for an additional population of more than
293 miillion citizens within a decade (1990-2000). These improvements must be viewed against
the backdrop of rapidly increasing urban population, fiscal crunch and strained human resources
and efficient and quality oriented public management.

The popular view about the process of urbanization in developing countries is

[Question ID = 24032]

1. Neutral [Option ID = 36127]

2. Positive [Option ID = 36125]

3. Negative [Option ID = 36126]

4. Unspecified [Option ID = 36128]

Correct Answer :-
o Negative [Option ID = 36126]

2) Read the following passage carefully and answer the questions

The popular view of towns and cities in developing countries and of urbanization process is that
despite the benefits and comforts it brings, the emergence of such cities connotes environmental
degradation, generation of slums and squatters, urban poverty, unemployment, crimes,
lawlessness, traffic chaos etc. but what is reality? Given the unprecedental increase in urban
population over the last 50 years from 300 million in 1950 to 2 billion in 2002 in developing
countries, the wonder really is how well the world has coped , and not how badly.

In general, the urban quality of life has improved in terms of availability of water and sanitation,
power, health and education, communication and transport. By way of illustration, a large
number of urban residents have been provided with improved water in urban areas in Asia’s
largest countries such as China, India, Indonesia and Philippines. Despite that, the access to
improved water in terms of percentage of total urban population seems to have declined during
the last decade of 20th century, though in absolute numbers, millions of additional urbanities,
have been provided improved services. These countries have made significant progress in the
provision of sanitation services too, together, providing for an additional population of more than
293 miillion citizens within a decade (1990-2000). These improvements must be viewed against
the backdrop of rapidly increasing urban population, fiscal crunch and strained human resources
and efficient and quality oriented public management.

The reality of urbanization is reflected in

[Question ID = 24034]

1. How well the situation has been managed [Option ID = 36133]

2. How fast the environment has degraded [Option ID = 36136]

3. How fast has been the tempo of urbanization [Option ID = 36135]
4. How badly the situation has gone out of control [Option ID = 36134]

Correct Answer :-
» How well the situation has been managed [Option ID = 36133]

3) Read the following passage carefully and answer the questions

The popular view of towns and cities in developing countries and of urbanization process is that
despite the benefits and comforts it brings, the emergence of such cities connotes environmental
degradation, generation of slums and squatters, urban poverty, unemployment, crimes,
lawlessness, traffic chaos etc. but what is reality? Given the unprecedental increase in urban
population over the last 50 years from 300 million in 1950 to 2 billion in 2002 in developing
countries, the wonder really is how well the world has coped , and not how badly.

In general, the urban quality of life has improved in terms of availability of water and sanitation,
power, health and education, communication and transport. By way of illustration, a large
number of urban residents have been provided with improved water in urban areas in Asia’s



largest countries such as China, India, Indonesia and Philippines. Despite that, the access to
improved water in terms of percentage of total urban population seems to have declined during
the last decade of 20th century, though in absolute numbers, millions of additional urbanities,
have been provided improved services. These countries have made significant progress in the
provision of sanitation services too, together, providing for an additional population of more than
293 miillion citizens within a decade (1990-2000). These improvements must be viewed against
the backdrop of rapidly increasing urban population, fiscal crunch and strained human resources
and efficient and quality oriented public management.

Which one of the following is not considered as an indicator of urban quality of life?

[Question ID = 24035]

1. Tempo of urbanization [Option ID = 36137]

2. Provision of basic services [Option ID = 36138]
3. Access to social amenities [Option ID = 36139]
4. All of these [Option ID = 36140]

Correct Answer :-
» Tempo of urbanization [Option ID = 36137]

4) Read the following passage carefully and answer the questions

The popular view of towns and cities in developing countries and of urbanization process is that
despite the benefits and comforts it brings, the emergence of such cities connotes environmental
degradation, generation of slums and squatters, urban poverty, unemployment, crimes,
lawlessness, traffic chaos etc. but what is reality? Given the unprecedental increase in urban
population over the last 50 years from 300 million in 1950 to 2 billion in 2002 in developing
countries, the wonder really is how well the world has coped , and not how badly.

In general, the urban quality of life has improved in terms of availability of water and sanitation,
power, health and education, communication and transport. By way of illustration, a large
number of urban residents have been provided with improved water in urban areas in Asia’s
largest countries such as China, India, Indonesia and Philippines. Despite that, the access to
improved water in terms of percentage of total urban population seems to have declined during
the last decade of 20th century, though in absolute numbers, millions of additional urbanities,
have been provided improved services. These countries have made significant progress in the
provision of sanitation services too, together, providing for an additional population of more than
293 million citizens within a decade (1990-2000). These improvements must be viewed against
the backdrop of rapidly increasing urban population, fiscal crunch and strained human resources
and efficient and quality oriented public management.

The author in this passage has tried to focus on

[Question ID = 24036]

1. Analytical Reasoning [Option ID = 36143]

2. Descriptive Statement [Option ID = 36144]

3. Extension of knowledge [Option ID = 36141]

4. Generation of Environmental Consciousness [Option ID = 36142]

Correct Answer :-
« Analytical Reasoning [Option ID = 36143]

5) Read the following passage carefully and answer the questions

The popular view of towns and cities in developing countries and of urbanization process is that
despite the benefits and comforts it brings, the emergence of such cities connotes environmental
degradation, generation of slums and squatters, urban poverty, unemployment, crimes,
lawlessness, traffic chaos etc. but what is reality? Given the unprecedental increase in urban
population over the last 50 years from 300 million in 1950 to 2 billion in 2002 in developing



countries, the wonder really is how well the world has coped , and not how badly.

In general, the urban quality of life has improved in terms of availability of water and sanitation,
power, health and education, communication and transport. By way of illustration, a large
number of urban residents have been provided with improved water in urban areas in Asia’s
largest countries such as China, India, Indonesia and Philippines. Despite that, the access to
improved water in terms of percentage of total urban population seems to have declined during
the last decade of 20th century, though in absolute numbers, millions of additional urbanities,
have been provided improved services. These countries have made significant progress in the
provision of sanitation services too, together, providing for an additional population of more than
293 miillion citizens within a decade (1990-2000). These improvements must be viewed against
the backdrop of rapidly increasing urban population, fiscal crunch and strained human resources
and efficient and quality oriented public management.

The average annual increase in the number of urbanites in developing countries, from 1950 to
2000 A.D. was close to

[Question ID = 24033]

1. 50 million [Option ID = 36131]
2. 30 million [Option ID = 36129]
3. 60 million [Option ID = 36132]
4. 40 million [Option ID = 36130]

Correct Answer :-
e 30 million [Option ID = 36129]

Topic:- DU_J19_BED_SE_T5

1) Read the following passage carefully and answer questions

Traditional Indian Values must be viewed both from the angle of the individual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a common system of
leadership which we call the ‘State’. The Indian ‘State’s’ special feature is the peaceful, or
perhaps mostly peaceful, co-existence of social groups of various historical provenances which
mutually adhere in a geographical, economic, and political sense, without ever assimilating to
each other in social terms, in ways of thinking, or even in language. Modern Indian law will
determine certain rules, especially in relation to the regime of the family, upon the basis of how
the loin- cloth is tied, or how the turban is worn, for this may identify the litigants as members of
a regional group, and therefore as participants in its traditional law, though their ancestors left
the region three or four centuries earlier. The use of the word, ‘State’ above must not mislead us.
There was no such thing as a conflict between the individual and the State, at least before
foreign governments became established, just as there was no concept of state ‘sovereignty’ or
of any church- and — state dichotomy.

Modern Indian ‘secularism’ has an admittedly peculiar feature: It requires the state to make a
fair distribution of attention and support amongst all religions. These blessed aspects of India’s
famed tolerance (Indian Kings so rarely persecuted religious groups that the exceptions prove
the rule) at one struck Portuguese and other European visitors to the West Coast of India in the
sixteen century, and the impression made upon them in this and other ways gave rise, at one
remove, to the basic constitution of Thomas More’s Utopia. There is little about modern India
that strikes one at once as Utopian: but the insistence upon the inculcation of norms, and the
absence of bigotry and institutionalised exploitation of human or natural resources, are two very
different features which link the realities of India and her tradition with the essence of all
Utopians.

Which one is the peculiar feature of modern Indian ‘Secularism’?

[Question ID = 24042]

1. No discrimination on religious considerations [Option ID = 36165]



2. Total indifference to religion [Option ID = 36166]
3. Disregard for social law [Option ID = 36168]
4. No space for social identity [Option ID = 36167]

Correct Answer :-
* No discrimination on religious considerations [Option ID = 36165]

2) Read the following passage carefully and answer questions

Traditional Indian Values must be viewed both from the angle of the individual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a common system of
leadership which we call the ‘State’. The Indian ‘State’s’ special feature is the peaceful, or
perhaps mostly peaceful, co-existence of social groups of various historical provenances which
mutually adhere in a geographical, economic, and political sense, without ever assimilating to
each other in social terms, in ways of thinking, or even in language. Modern Indian law will
determine certain rules, especially in relation to the regime of the family, upon the basis of how
the loin- cloth is tied, or how the turban is worn, for this may identify the litigants as members of
a regional group, and therefore as participants in its traditional law, though their ancestors left
the region three or four centuries earlier. The use of the word, ‘State’ above must not mislead us.
There was no such thing as a conflict between the individual and the State, at least before
foreign governments became established, just as there was no concept of state ‘sovereignty’ or
of any church- and — state dichotomy.

Modern Indian ‘secularism’ has an admittedly peculiar feature: It requires the state to make a
fair distribution of attention and support amongst all religions. These blessed aspects of India’s
famed tolerance (Indian Kings so rarely persecuted religious groups that the exceptions prove
the rule) at one struck Portuguese and other European visitors to the West Coast of India in the
sixteen century, and the impression made upon them in this and other ways gave rise, at one
remove, to the basic constitution of Thomas More’s Utopia. There is little about modern India
that strikes one at once as Utopian: but the insistence upon the inculcation of norms, and the
absence of bigotry and institutionalised exploitation of human or natural resources, are two very
different features which link the realities of India and her tradition with the essence of all
Utopians.

What is the striking feature of modern India?

[Question ID = 24039]

Uniform laws. [Option ID = 36154]

Absence of Bigotry. [Option ID = 36156]

A replica of Utpoian State. [Option ID = 36153]
Adherence to traditional values. [Option ID = 36155]

H N

Correct Answer :-
e Absence of Bigotry. [Option ID = 36156]

3) Read the following passage carefully and answer questions

Traditional Indian Values must be viewed both from the angle of the individual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a common system of
leadership which we call the ‘State’. The Indian ‘State’s’ special feature is the peaceful, or
perhaps mostly peaceful, co-existence of social groups of various historical provenances which
mutually adhere in a geographical, economic, and political sense, without ever assimilating to
each other in social terms, in ways of thinking, or even in language. Modern Indian law will
determine certain rules, especially in relation to the regime of the family, upon the basis of how
the loin- cloth is tied, or how the turban is worn, for this may identify the litigants as members of
a regional group, and therefore as participants in its traditional law, though their ancestors left
the region three or four centuries earlier. The use of the word, ‘State’ above must not mislead us.
There was no such thing as a conflict between the individual and the State, at least before
foreign governments became established, just as there was no concept of state ‘sovereignty’ or



of any church- and — state dichotomy.

Modern Indian ‘secularism’ has an admittedly peculiar feature: It requires the state to make a
fair distribution of attention and support amongst all religions. These blessed aspects of India’s
famed tolerance (Indian Kings so rarely persecuted religious groups that the exceptions prove
the rule) at one struck Portuguese and other European visitors to the West Coast of India in the
sixteen century, and the impression made upon them in this and other ways gave rise, at one
remove, to the basic constitution of Thomas More’s Utopia. There is little about modern India
that strikes one at once as Utopian: but the insistence upon the inculcation of norms, and the
absence of bigotry and institutionalised exploitation of human or natural resources, are two very
different features which link the realities of India and her tradition with the essence of all
Utopians.

Which of the following is a special feature of the Indian state?

[Question ID = 24040]

1. Social integration of all groups [Option ID = 36159]

2. Peaceful co-existence of people under a common system of leadership [Option ID = 36157]

3. Peaceful co-existence of social groups of different historical provenances attached to each other in a
geographical, economic and political sense [Option ID = 36158]

4. Cultural assimilation of all social groups. [Option ID = 36160]

Correct Answer :-

« Peaceful co-existence of social groups of different historical provenances attached to each other in a
geographical, economic and political sense [Option ID = 36158]

4) Read the following passage carefully and answer questions

Traditional Indian Values must be viewed both from the angle of the individual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a common system of
leadership which we call the ‘State’. The Indian ‘State’s’ special feature is the peaceful, or
perhaps mostly peaceful, co-existence of social groups of various historical provenances which
mutually adhere in a geographical, economic, and political sense, without ever assimilating to
each other in social terms, in ways of thinking, or even in language. Modern Indian law will
determine certain rules, especially in relation to the regime of the family, upon the basis of how
the loin- cloth is tied, or how the turban is worn, for this may identify the litigants as members of
a regional group, and therefore as participants in its traditional law, though their ancestors left
the region three or four centuries earlier. The use of the word, ‘State’ above must not mislead us.
There was no such thing as a conflict between the individual and the State, at least before
foreign governments became established, just as there was no concept of state ‘sovereignty’ or
of any church- and — state dichotomy.

Modern Indian ‘secularism’ has an admittedly peculiar feature: It requires the state to make a
fair distribution of attention and support amongst all religions. These blessed aspects of India’s
famed tolerance (Indian Kings so rarely persecuted religious groups that the exceptions prove
the rule) at one struck Portuguese and other European visitors to the West Coast of India in the
sixteen century, and the impression made upon them in this and other ways gave rise, at one
remove, to the basic constitution of Thomas More’s Utopia. There is little about modern India
that strikes one at once as Utopian: but the insistence upon the inculcation of norms, and the
absence of bigotry and institutionalised exploitation of human or natural resources, are two very
different features which link the realities of India and her tradition with the essence of all
Utopians.

The basic construction of Thomas More’s Utopia was inspired by

[Question ID = 24038]

1. Indian tradition of religious tolerance. [Option ID = 36149]

2. Social inequality in India. [Option ID = 36151]

3. European perception of Indian State. [Option ID = 36152]

4. Persecution of religious groups by Indian rulers. [Option ID = 36150]



Correct Answer :-
 Indian tradition of religious tolerance. [Option ID = 36149]

5) Read the following passage carefully and answer questions

Traditional Indian Values must be viewed both from the angle of the individual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a common system of
leadership which we call the ‘State’. The Indian ‘State’s’ special feature is the peaceful, or
perhaps mostly peaceful, co-existence of social groups of various historical provenances which
mutually adhere in a geographical, economic, and political sense, without ever assimilating to
each other in social terms, in ways of thinking, or even in language. Modern Indian law will
determine certain rules, especially in relation to the regime of the family, upon the basis of how
the loin- cloth is tied, or how the turban is worn, for this may identify the litigants as members of
a regional group, and therefore as participants in its traditional law, though their ancestors left
the region three or four centuries earlier. The use of the word, ‘State’ above must not mislead us.
There was no such thing as a conflict between the individual and the State, at least before
foreign governments became established, just as there was no concept of state ‘sovereignty’ or
of any church- and — state dichotomy.

Modern Indian ‘secularism’ has an admittedly peculiar feature: It requires the state to make a
fair distribution of attention and support amongst all religions. These blessed aspects of India’s
famed tolerance (Indian Kings so rarely persecuted religious groups that the exceptions prove
the rule) at one struck Portuguese and other European visitors to the West Coast of India in the
sixteen century, and the impression made upon them in this and other ways gave rise, at one
remove, to the basic constitution of Thomas More’s Utopia. There is little about modern India
that strikes one at once as Utopian: but the insistence upon the inculcation of norms, and the
absence of bigotry and institutionalised exploitation of human or natural resources, are two very
different features which link the realities of India and her tradition with the essence of all
Utopians.

The author uses the word ‘State’ to highlight

[Question ID = 24041]

1. The concept of state sovereignty. [Option ID = 36163]

2. Dependence on religion. [Option ID = 36164]

3. Antagonistic relationship between the state and the individual throughout the period of history. [Option ID
= 36161]

4. Absence of conflict between the state and the individuals upto a point in time. [Option ID = 36162]

Correct Answer :-
o Absence of conflict between the state and the individuals upto a point in time. [Option ID = 36162]

Topic:- DU_J19_BED_SE_T6

1) R R 9 ¥ U Y 919 § YT Y SRS § | Y AT B giAg -
[Question ID = 24051]

1. dg fa@m= @t [Option ID = 36202]

2. g fqamg % I @ [Option ID = 36201]
3. dg faamg == ot [Option ID = 36203]

4. 98 fadTg A @ [Option ID = 36204]

Correct Answer :-

. gg faamy &3 @ [Option ID = 36204]



2) Ay Fifea fras! He1waT 8
[Question ID = 24052]

1. SM<cd [Option ID = 36207]
2. &I [Option ID = 36205]
3. S1ged [Option ID = 36206]
4. fa=mufd [Option ID = 36208]

Correct Answer :-
faemufa [Option ID = 36208]

3) ‘PR g 1 Ay 3-
[Question ID = 24049]

1. =g [Option ID = 36193]
2. 9% [Option ID = 36196]

3. Tgq [Option ID = 36195]
4, TTd [Option ID = 36194]

Correct Answer :-
« g [Option ID = 36195]

4) SR Wgwv A afSd Uy &1 $I4 Iq1 9e 82
[Question ID = 24045]

1. HdYdrEd [Option ID = 36177]

2. Hqarad [Option ID = 36178]
3. TUMERE® [Option ID = 36180]
4, YTGaTEa® [Option ID = 36179]

Correct Answer :-

«  $arad [Option ID = 36178]

5) fay & a9 3f¥e Feht oA arelt wmwrs # & o1 R @
[Question ID = 24046]

1. UgdT [Option ID = 36181]
2. M7 [Option ID = 36184]
3. TIRRT [Option ID = 36183]
4. Q8T [Option ID = 36182]

Correct Answer :-
« YT [Option ID = 36184]

6) fo=dl yrwT ¥ fprT HH § ugh S T uig W) St 9 B UIWT H) BT ST Y-
[Question ID = 24053]

1. afd® ¥ [Option ID = 36209]
2. TifeT [Option ID = 36210]
3. WUid [Option ID = 36211]



4. e AP [Option ID = 36212]

Correct Answer :-
. UTdhd [Option ID = 36211]

7) HfRISHTA Bt TR A BT R :
[Question ID = 24044]

1. S DA & G YW 3aeit &f | [Option ID = 36174]

2. ST HEH gy 3 Wifigd ¥a1 M| [Option ID = 36176]

3. U HE & Uiied H (fed TG B HIEAT | [Option ID = 36175]
4. 399 3% Ud Hfaal 3 4¥ &1 U=R BT | [Option ID = 36173]

Correct Answer :-

. Y HA & Al H FAfed G99 o1 UG | [Option ID = 36175]
8) VT’ Mg q HIA HIaaE® Iyl 30 ?
[Question ID = 24050]

ST [Option ID = 36200]
J1d [Option ID = 36199]
AT [Option ID = 36197]

JTHA [Option ID = 36198]

N

Correct Answer :-
. {Td [Option ID = 36199]

9) ‘Udd W H3HT WieT GgTax &7 4 3-
[Question ID = 24048]

1. YGRI $I GRI & [Option ID = 36192]

2. U & SdRYT HAT [Option ID = 36190]
3. 3[Yd DI YT 1 &A1 [Option ID = 36189]
4. g1 uReA HAT [Option ID = 36191]

Correct Answer :-
QU URYH BT [Option ID = 36191]

10) Fufafaa & a=f auf §:
[Question ID = 24047]

1. U ,% ,d[Option ID = 36185]
2. &, d, d [Option ID = 36186]
3. Y, I [Option ID = 36188]
4. 9, X ,d [Option ID = 36187]

Correct Answer :-

Topic:- DU_J19_BED_SE_T7



1) Choose the one which best expresses the same meaning of the given word.
Busy

[Question ID = 24055]

1. Secure [Option ID = 36219]
2. Quiet [Option ID = 36218]
3. Active [Option ID = 36217]
4. Bold [Option ID = 36220]

Correct Answer :-
 Active [Option ID = 36217]

2) Choose the one which best expresses the same meaning of the given word.
Deny

[Question ID = 24056]

1. Disagree [Option ID = 36223]
2. Differ [Option ID = 36222]

3. Negate [Option ID = 36221]
4. Vary [Option ID = 36224]

Correct Answer :-

3) Choose the one which best expresses the same meaning of the given word.
Grief

[Question ID = 24057]

1. Cheerful [Option ID = 36225]
2. Sorrow [Option ID = 36227]
3. Happy [Option ID = 36226]
4. Injury [Option ID = 36228]

Correct Answer :-
« Sorrow [Option ID = 36227]

Topic:- DU_J19_BED_SE_T8

1) Fill in the blanks by selecting appropriate alternative.
I met him only a week

[Question ID = 24059]

1. ago [Option ID = 36235]
2. previous [Option ID = 36236]
3. back [Option ID = 36233]
4. past [Option ID = 36234]

Correct Answer :-
e ago [Option ID = 36235]



2) Fill in the blanks by selecting appropriate alternative.
Ramesh told his wife that from England.

[Question ID = 24062]

1. he will like to visit France [Option ID = 36245]
2. he was liking to visit France [Option ID = 36246]
3. he would like to visit France [Option ID = 36247]
4. he is liking to visit France [Option ID = 36248]

Correct Answer :-
» he would like to visit France [Option ID = 36247]

3) Fill in the blanks by selecting appropriate alternative.
Vishal asked me

[Question ID = 24060]

1. why I was angry [Option ID = 36239]
2. why was I angry [Option ID = 36240]
3. why are you angry [Option ID = 36237]
4. why I am angry [Option ID = 36238]

Correct Answer :-
» why I was angry [Option ID = 36239]

4) Fill in the blanks by selecting appropriate alternative.
Even after repeated warnings, she to office on time.

[Question ID = 24061]

1. have never come [Option ID = 36244]
2. is never coming [Option ID = 36243]
3.  never come [Option ID = 36241]

4. never comes [Option ID = 36242]

Correct Answer :-
e never comes [Option ID = 36242]

Topic:- DU_J19_BED_SE_T9

1) Choose the one opposite in meaning to the given word.
Density

[Question ID = 24065]

1. Rarity [Option ID = 36257]

2. Brightness [Option ID = 36260]
3. Intelligence [Option ID = 36258]
4. Clarity [Option ID = 36259]

Correct Answer :-
 Rarity [Option ID = 36257]



2) Choose the one opposite in meaning to the given word.
Equanimity

[Question ID = 24064]

1. Excitement [Option ID = 36256]
2. Duplicity [Option ID = 36255]

3. Dubiousness [Option ID = 36254]
4. Resentment [Option ID = 36253]

Correct Answer :-
« Excitement [Option ID = 36256]

3) Choose the one opposite in meaning to the given word.
Defiance

[Question ID = 24066]

1. Dismay [Option ID = 36264]

2. Anxiety [Option ID = 36261]

3. Suspicion [Option ID = 36263]
4. Obedience [Option ID = 36262]

Correct Answer :-
» Obedience [Option ID = 36262]

Topic:- DU_J19_BED_SE_T10

1) Which of the following is a noble gas?

Frafafea 9 3 o9 o sifra T 82
[Question ID = 24092]

1. Oxygen/3fiaisi [Option ID = 36366]

2. Nitrogen/ TSI [Option ID = 36365]

3. Argon/ 3R [Option ID = 36367]

4. Carbon dioxide/ FTa STZ3HGTSS [Option ID = 36368]

Correct Answer :-
« Argon/ 3 [Option ID = 36367]

2) Which of these is a physical and irreversible change?

99 9 P 91 T Hifd® 3R rvcmad-g ulkad g2
[Question ID = 24090]

1. burning of a paper/ T DTS HI Sieq-l [Option ID = 36357]

2. evaporation of water/ Tl &1 dTSiIdHRUT [Option ID = 36358]

3. lighting of an electric bulb / fSSTelt & §d T ST [Option ID = 36360]
4. breaking of a glass tumbler/ Ud UEISE] ¢cHl [Option ID = 36359]

Correct Answer :-
« breaking of a glass tumbler/ T RIAT &1 ¢cHT [Option ID = 36359]



3) Which statement among the following is true?

frafafaa & @ o9 91 Y7 99 82
[Question ID = 24078]

1. The sum of three odd numbers is even/di- fauH Tw@AT37 BT SIS TH T& §ldl 81 [Option ID = 36309]

2. All rational numbers are odd./4t uR¥g Y@= faww T=Td §idl § [Option ID = 36311]

3. All pairs of consecutive composite numbers have no prime number between them./SHITA HIod T&T31 &
it Shiet & &t oI it 14Ty Tam el 8 [Option ID = 36312]

4. The product of three odd numbers is odd./ A fawm T&msif &1 qUHwe Ue faw Ter gt 81 [Option ID
= 36310]

Correct Answer :-

« The product of three odd numbers is odd./ A fawH TRe3ft &7 TUHE U faw Tr g1t 81 [Option
ID = 36310]

4) Which statement is true?
DI T HYT TA 2

[Question ID = 24086]

1. Two obtuse angles can form a linear pair./al 3t/ H0T Th ¥RyPb 7 S g1 [Option ID = 36344]

2. A rhombus is a paralIeIogram/ﬂﬂﬁﬂg‘_’[ T JHMIIR %lﬁﬂ\_sf Wt T Bl [Option ID = 36342]

3. In every triangle median is also an angle bi-sector./m ﬁﬂ\_rf T AT U o7 fguroiss of gt |
[Option ID = 36341]

4. The sum of the interior angles of a quadrilateral is 180°./T% TqYsl & 3f=: BHIVN BT AT 180° BT &
[Option ID = 36343]

Correct Answer :-
« A rhombus is a parallelogram/JAIIHS T THFIR aqst off 81d1 81 [Option ID = 36342]

5) Which one of the following did not originally contain in the Constitution of India?

Fafafee % @ o9 91 9@ 9 F URd & T & e T8 ur?
[Question ID = 24072]

Directive Principles/fd=1e RIgid [Option ID = 36286]
Fundamental Duties/ Hifeies dad [Option ID = 36285]
Fundamental Rights/Hifeies 3ifeeR [Option ID = 36287]
None of these. /371 H ¥ &5 el [Option ID = 36288]

O

Correct Answer :-
e Fundamental Duties/ Aifere Hacd [Option ID = 36285]

6) Which one of the following lakes in India is made by an asteroid collide?

YR $t FHuferrad shal & 9 1 I T &sug che™ A 741 82
[Question ID = 24075]

1. Lonar Lake, Maharashtra/ @R 34, HERTY [Option ID = 36297]
2. Dal Lake, Kashmir/Sd 3iid, HHR [Option ID = 36300]

3. Wular Lake, Kashmir/deR Sitd, AR [Option ID = 36298]

4, Sambhar Lake, Rajasthan/ITHR éﬂﬁ, RIS [Option ID = 36299]

Correct Answer :-
e  Lonar Lake, Maharashtra/ AR i, HERIY [Option ID = 36297]



7) Which Articles of the Indian Constitution guaranteed the complete equality of men and
women?

YR 3™ F fr srgedel A goul ok afgarsit @t yof warar # e €
[Question ID = 24071]

Articles 45 and 46/ 3{Tw5¢ 45 MR 46 [Option ID = 36283]
Articles 22 and 23/ 3@5¢ 22 3fR 23 [Option ID = 36282]
Articles 14 and 15/ 3fJ=be 14 3R 15 [Option ID = 36281]
. None of these./ 378 T ®ig i 8| [Option ID = 36284]

H N

Correct Answer :-
o Articles 14 and 15/ 3!?1@?{ 14 3R 15 [Option ID = 36281]

8) Which element is present in all organic compounds?

Tt AT FUUISUST | S 91 ad WG 82
[Question ID = 24093]

1. Oxygen / 3fiaiIoi [Option ID = 36369]
2. Nitrogen/ - sijlx_rl:l [Option ID = 36371]

3. Hydrogen/ @ 3§;IG|:| [Option ID = 36370]
4. Carbon/ ®Te+ [Option ID = 36372]

Correct Answer :-
« Carbon/ @184 [Option ID = 36372]

9) Which inequality is true among the following?

frrafafaa & @ o9 W srawHar 99 82

[Question ID = 24099]
(23)5 < 2(3+5)
1. [Option ID = 36396]

233267
2, [Option ID = 36395]

23 >32

3. [Option ID = 36394]
23 >52

4, [Option ID = 36393]

Correct Answer :-

-2

5 > 52
. [Option ID = 36393]

10) At midnight, what is happening in the leaf of a plant?
T U &Y u=it F ameht 3a A w1 < fpar i @2

[Question ID = 24094]

1. Photosynthesis and respiration/UdT= TZAYUT 3R 49 [Option ID = 36375]
2. Photosynthesis/STT FRAWUT [Option ID = 36374]
3. Respiration/4d- [Option ID = 36373]



4. None of these/ TR aﬂ's‘ ff Tt [Option ID = 36376]

Correct Answer :-
» Respiration/4d [Option ID = 36373]

11) Animal protein is called first class protein because it is

T3] W B uyw Avft BT N Ha1 wrar @ Fife a8’
[Question ID = 24097]

1. Cheaper in the market/STolR ® =T [Option ID = 36385]

2. Rich in essential amino acids/ 3Td$H A Trs § & Wiq T wWifey [Option ID = 36387]
3. Easily digestible/3{TET ¥ U9+ gI7g [Option ID = 36386]

4. Delicious in taste/%dTG ¥ WGP [Option ID = 36388]

Correct Answer :-
« Rich in essential amino acids/ 3TaRA® A TRTS ¥ ¥H< WG H WGP [Option ID = 36387]

12) Length of a tangent to a circle from a point A is 24cm and distance of A from the centre is
25cm. What will be the length of the radius of this circle?

% fog A 9 T gu W Wi 7€ =t Y 91 awarg 2498 fieR § 3R A B s A gt 25 A W B
39 g9 31 FBsar &1 719 7 g2

[Question ID = 24082]

1. 12 cm./128& Hiex [Option ID = 36326]
2. 13 cm./13Y¢ Hiex [Option ID = 36328]
3. 7 cm./7 ¥t Hiex [Option ID = 36325]

4. 15 cm./15%¢t HIex [Option ID = 36327]

Correct Answer :-
« 7 cm./7 ¥et Hiex [Option ID = 36325]

13) If an atom has 13 electrons, how many orbit will it have ?

gfe fpdt urmmoy A 13 3a9e & a1 39 fFad .......F&TE gl 2
[Question ID = 24091]

1. Three/<iM [Option ID = 36363]
2. Two/al [Option ID = 36362]

3. Four/dR [Option ID = 36364]
4. One/Ud [Option ID = 36361]

Correct Answer :-
« Three/dH [Option ID = 36363]

14) How many three digit numbers are divisible by 7?

= 3t arelt fora-it Tt 7 A fyurfra gidt 82
[Question ID = 24079]

1. 904 [Option ID = 36316]
2. 128 [Option ID = 36313]
3. 900 [Option ID = 36315]
4. 127 [Option ID = 36314]



Correct Answer :-
e 128 [Option ID = 36313]

15) How many terms are there in the arithmetic progression 7, 13,19,25, ...., 205?
iR 9oft 7, 13,19,25, ..., 205 ® fFaq g 7?2

[Question ID = 24084]

1. 33 [Option ID = 36334]
2. 34 [Option ID = 36333]
3. 32 [Option ID = 36335]
4. 30 [Option ID = 36336]

Correct Answer :-
e 34 [Option ID = 36333]

16) Who said that “If religion did not sanction social reforms then religion should be
changed.”?

o w1 f e uv U BT UR TE AT, 9 39 o4 &1 § ufvad g anfee?
[Question ID = 24068]

1.  Gopal Hari Deshmukh / TTdTel 8%t ¢RI [Option ID = 36271]
2. None of these./ 398 9 &5 gl [Option ID = 36272]

3.  R. G. Bhandarkar/3iR. Sft. H8R®R [Option ID = 36269]

4. Mahadev Govind Ranade/ Hglcd TMfd=3 TS [Option ID = 36270]

Correct Answer :-
«  Gopal Hari Deshmukh / TUTd 81 SR [Option ID = 36271]

17) When the Jat peasants around Mathura first time revolted under the leadership of their Jat
zamindars?

o a1 o oie fram A 39 SfieRY & Aqa W TYRT FIMUT ygdt IR fasig faar ur
[Question ID = 24069]

1. 1678/1678 § [Option ID = 36274]
2. 1669/1669 ¥ [Option ID = 36273]
3. 1688/1688 T [Option ID = 36275]
4. 1689/1689 H [Option ID = 36276]

Correct Answer :-
. 1669/1669 " [Option ID = 36273]

18) In a solution of common salt in water, the ratio of salt to water was 30:70 as per weight. If
we evaporate 100 gms. of water from one kilogram of this solution, what will be the ratio of the
salt to water by weight?

YR THF g T & 901 § UR & AR 1S 3R U T 3uTd 30:70 1 59 a8 & TP fobal Um0
Rrgor & 9 afe 100 I TR WU 9 FR IS WA, 1 YR & AR THS MR UL BT U FIT 7
SITE?

[Question ID = 24081]

1. 1:2 [Option ID = 36321]



2. 7:3 [Option ID = 36324]
3. 2:1[Option ID = 36322]
4. 3:7 [Option ID = 36323]

Correct Answer :-
. 1:2 [Option ID = 36321]

19) If price of tea increases by 20%, by what percent must the consumption be reduced to keep
the expense the same?

af T BT G 20% ¢ AT d W9 B Ugd fora=1 8t 7@ & fie A9+ & fra= ufa=ra gerr wime?
[Question ID = 24083]

16% [Option ID = 36329]
16 2/3% [Option ID = 36331]
20% [Option ID = 36332]
16.26% [Option ID = 36330]

HwwnN =

Correct Answer :-
. 16 2/3% [Option ID = 36331]

20) Who wrote in 1813 that the Indians had in general “Superior endowments in reading,
writing and arithmetic than the common people of any nation in Europe”?

égggﬁv‘aﬁﬁmm%mz YRA & 1T “UeTs, forars aur fora # qRIU & 39 @ | HTwt
"2

[Question ID = 24070]

1. Lord Bentinck/ NIEKEIEED [Option ID = 36277]

2. None of these/ 3 ¥ P13 gl [Option ID = 36280]
3.  Lord Mountbatten/ @TS Al [Option ID = 36279]
4. Warren Hastings/ aﬁ?%@m [Option ID = 36278]

Correct Answer :-
e Warren Hastings/ GIEG| %ﬁ?‘ﬂ [Option ID = 36278]

21) Who wrote the book “Studies in the Theory of International Trade”?

" Tdte 3 ¢ USi Hfs gevvia ¢ Taw fram fordt 22
[Question ID = 24077]

1. Lionel Robbins/fera=d I1fa=d [Option ID = 36307]

2. Amartya Sen/ 3\ I [Option ID = 36306]

3. Jacob Viner/awatﬁ? [Option ID = 36305]

4. None of these/ 3780 ¥ @I 4T T8 [Option ID = 36308]

Correct Answer :-
« Jacob Viner/Si%d ag-R [Option ID = 36305]



The number _5 is equal to which number among the following?
345
TEar 5 rerfertas & o o 5T & J409 22

V35
[Question ID = 24970]
. (-1/2) (1N3+V5)
, (5/2) (V3+V5)

[Option ID = 39878]
[Option ID = 39876]

(-5/2) (W3+V5)

. : . [Option ID = 39875]
. (112)(V3:05)

tion ID = 39877]

Correct Answer :-

-5/2) (N3+V
(-5/2) (N3+N5) [Option ID = 39875]

23) What does a light year measure?
ST a1 ATYaT 32

[Question ID = 24088]

1. Distance /g3l [Option ID = 36351]

2. Time/¥HY [Option ID = 36350]

3. Weight /HR [Option ID = 36352]

4. Brightness/dH® [Option ID = 36349]

Correct Answer :-
« Distance /g3I [Option ID = 36351]

24) What is the full form of IUGG?
IUGG T JUf =1 T §?

[Question ID = 24074]

1. Indian Union of Geodesy and Geophysics/ Sfea gf=a+ 3t fSrarsdt T8 foraiftsfored [Option ID = 36296]

2. Indian Union of Geodesy and Geography/sfea gfa- 3iits fort St U fSRIUT®T [Option ID = 36294]

3. International Union of Geodesy and Geography/ ILERE {ﬁlﬂ 3T o St Us foraumet [Option ID =
36293]

4. International Union of Geodesy and Geophysics/Se"RMd T 31t fordied! Ue forfthfora™ [Option ID
= 36295]

Correct Answer :-

« International Union of Geodesy and Geophysics/ScX-RIMd AT 31t fordiedt T8 foraifthfoiay [Option
ID = 36295]



25) What is the value of the expression
sin 247° + sin 243°?
D sin 2 47° + sin 243°HT U HT ERM?

[Question ID = 24087]

1. 1 [Option ID = 36346]
2. 2 [Option ID = 36348]
3. -1 [Option ID = 36347]
4. 0 [Option ID = 36345]

Correct Answer :-
e 1 [Option ID = 36346]

26) Cotyledons are present in which part of a plant?

dISTU (Cotyledons)us WY & fbg HRT § Hiv[g gld &2
[Question ID = 24095]

1. Leaf/ UdT [Option ID = 36377]

2. Branch/XIT4@T [Option ID = 36379]
3. Embryo/YUTI [Option ID = 36380]
4. Flower/ TodT [Option ID = 36378]

Correct Answer :-
o Embryo/¥UT [Option ID = 36380]

27) The loudness of sound is determined by what property of a sound wave?

afy T Wik @fy T & g o1 & Frufia g @2
[Question ID = 24089]

1. Wavelength /a¥3T¢ed [Option ID = 36354]
2. Velocity /a7 [Option ID = 36355]

3. Amplitude/3TaTH [Option ID = 36356]

4. Frequency/ 3Mdfi [Option ID = 36353]

Correct Answer :-
o Amplitude/3Td™ [Option ID = 36356]

28) The ecosystem of the ocean is called:

Tz & uifRufas) a3 &) Ha1 wrar 8:
[Question ID = 24076]

1. Aquatic ecosystem /STeid TR @ [Option ID = 36301]

2. Terrestrial ecosystem /R UIRFUTIH! &5 [Option ID = 36302]

3. None of these/ TR ?ﬁ'sn 1 Tt [Option ID = 36304]

4. Microbial ecosystem /HTgshiTaad TIRfRfdet = [Option ID = 36303]

Correct Answer :-

« None of these/ 379 ¥ Pis off 7Y [Option ID = 36304]



The President of India has:

HRd & Pufa & I &:
[Question ID = 24073]

1. Absolute veto power/ quaﬁE“r fad [Option ID = 36289]

2. All of the these/ 3 gt [Option ID = 36292]

3. Pocket veto power/ Ufde diel ifad [Option ID = 36290]

4. Suspensive veto power/ fAdeeR! der wfea [Option ID = 36291]

Correct Answer :-
« Al of the these/ & T+ [Option ID = 36292]

30) Alfa- toxins are produced by
3rpT- fauTad uerd frad grt fAffa 81a &2

[Question ID = 24096]

1. Bacteria/STary] [Option ID = 36381]
2. Algae/2aTd [Option ID = 36384]

3. Fungi/®d® [Option ID = 36382]

4. Viruses/fdsT] [Option ID = 36383]

Correct Answer :-
o Fungi/®ded [Option ID = 36382]



